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UGC NET PAPER 3 NOVEMBER 05, 2017 SHIFT 1 GEOGRAPHY QUESTION PAPER

Note : This papoer contains seventy five (75) objective type guestions of two (2) marks cach.
All questions are compulsory.

1.  The concept of Padiplain s associated with :

(1)  W.M. Davis (2) LC. King (3] W. Penk (4) C.A. Cotlon

2. The direction of a horizontal line on an inclined rock strata is known as :

(1)  Anticline (2) Dip (3)  Syncline (4) Strike
s Who stated that the slope profiles are convex, plane or concave according to the circumstances
of the uplifting action ?
(1)  Penck (2} Davis (3)  Johnson (4)  Wood
4. The premise that the present-day processes have been operating throughout geological time
15 the prinaple of :
(1) Isostasy (2)  Diaslrophism
(3)  Uniformitarianism (4) Catastrophism
5.  Malch List - I with the List - IT and select the correct answer from the code given below :
List - I List - 11
(Scholar) (Theory)
(a) Ilall and Dana (1)  Seca [loor Spreading,
(b)  Hulton (if) ~ Thermal Contraction Theory
(¢)  Harry Hess (i11) Theory of Geosyncline
()  Jeftrey (v}  Doctrine of Uniformitarianism
Code
@ () (9 (d)
M0 ) (V) G
@ G 0 @) ()
(3) () (i) @) (i)
@ G W 0 G
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(1) wAfeufq (2) HZel-Temymy
(3)  UShEIArEE (4) TaogE
Tl - [ 3] F=I - 11 o W19 AT i IR A= 6 T F2 § 920 39 61 =2 &
gl - 1 =l - 11
(Tagr) (Tagr=)
(a) BT UE SM (i) HHS TYEIA JHN
(b) @& (i) o Hep=Ed THg
(c) 2™ (i)  Yg-sIfaAta =1 fagr
(d) STHL (iv) USHETaER = g
ehd ;
(@) (b)) (o (d)
(1y (i) (ify  (iv)  (iii)
(2) () () () (iv)
(3) (v} @ (@ (i)
(4) @) @) 1 ()
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(a) J.A. Steers

(h)  S.W. Wooldridge
(c)  Walther Penck
(d)  Thornbury

Code :

(a) (b)
(1) (i) (i)
(2) () (i)
(3) (v} (iD)
(4)  (iit) (1)

6.  Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select vour answer {rom the code given below :
Assertion (A) @ There is close relationship between volcanic activities and plate margins.
Reason (R) : A vast majority of the world’s volcanoes are associated with the convergent
plate margins.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  Both (A) and (R) are true, but (R) 1s not a correct explanation of (A).
(3)  (A) is true, but (R) 1s false,
(4)  (A) is false, but (R) is true,
7. Malch List - I with the List - IT and sclect the correct answer from the code given below :
List - 1 list - II
(Topography) (lLandforms)
(a) Glacial (i)  Alluvian fan
(b)  Marine (i)  Yardangs
(c)  TIluvial (iii)  Arate
(d)  Acolian (iv)  Tombolo
Code :
@ (k) (9 (d)
o) @ 0 G G
@ v () O ()
G) i) Gv) (@) 0
@ @) @ O a6
8.  Malch List - I with the List - IT and select the correct answer [rom the code given below :
List - I List - II
(Aunthor) (Book)

(1) Morphological Analysis of Landforms

(ify  Principles of Geomorphology

(iify  Unstable earth
(iv)  Spirit and purpose of Geography
(d)
()
(iii)
(iii)
@
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6. A= 21 kA QUMY T, Weh ol ATHERYT (A) 3 THL ] THIOT (R) o &9 H a1 741 g1 A fou 1y
Fe W W T S A
At (4) . sarengE Tiafafil $if afeer () & 7R & &= =i s g 7

SHTTT (R) fava & wifttyr saremel afoard ufzs s ¥ grafaa §)

che :

(1) (A) 3R (R) TFI TR&1 § 31 (R), (A) &1 T AT T |

(2)  (A) 3R (R) EF W& €, T (R), (A) 1 T =08 7 ¢

(3) (A) Tl E 9% (R) 7o €1

(4)  (A) T €, 9% (R) Hal € |

7. gt - 1% eIl - 11 % 919 gafad &L IR 919 QU 70 e 9 98 371 %1 =97 L

gl - 1 g - 11
(e ta ) ( *J3TeRTq )

(a) Temaem () g YEEd THR

(b) wHEI (i) S

(c) T (i) 2T

(d) @rre (iv) SAT fafa (eemen)

<hd
(@) (b) (o) (d)

1) () (@ () (@)

(2)  (v) @) () ()

(3) (i) (v) (D) (D)

@) (i) (v) @

8. Tl - [l e - 11 o 12 goferd s A% = 90 T4 %z | Bl 3 1 =947 h

et - 1 G|
(g ) ( g&eR )
(a) ST, WRRH (i) AREGIEHT TAE A% dehHy
(b) UH.T=A, Felfg (i) Toeiem s1fe SR
(¢) e um (iif) TS Y
(d)  oad (iv) Teafe dg wos sifw fesmin
che :

(@ (b} (o)
() g (@v)
2) () (v) @) (i)
(3) (v) ) @ |
4 ) () (1) |
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Which one of the following is the correct average slope of a typical “front’ in weather
phenomena ?

(1) 1:150 (2) 1:100 (3) 1:50 (4) 1:5

Match List - I with the List - IT and select the correct answer from the code given below ¢

List - I List - II
(Conferences/Reports) (Held in/Published in)

(a) Global climate change impacts in the United States (1) 2007
(b}  Stokholm Conference (i) 1992
(¢} Fourth Assessment Report of the [PCC (i) 1972
(d)  Rio Conference (iv) 2009
Code :

(@) (b) () (d)
M0 G @) )
@ ) 0 (@) )
G) (v 6 @ 0
@ (v @ O )

In which one of the following atmospheric lavers temperature remains constant ?
(1)  Stratosphere (2) Tropopause (31  Mesosphere (4)  Troposphere

Which one of the following is the correct sequence of surface components of pressure and
wind from the equator to the poles ?
(1) DPolar easterlies, Westerlies, Subtropical highs, Trade winds

(2)  Subtropical highs, Westerlies, Trade winds, Polar easterlies
(3)  Trade winds, Polar easterlies, Westerlies, Sublropical highs
(4) Trade winds, Sublropical highs, Westerlies, Polar easterlies

Given below are two sltatements, one labelled as Assertion (A) and the other labelled as

Reason (R). Select vour answer from the code given below :

Assertion (A) ¢ Above 1000 meter altitudes most winds follow a geostrophic or near-
geostrophic course.

Reason (R) : The friction laver of the atmosphere extends to only about 1000 meters above
the ground.

Code :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) is not a correct explanation of (A).

(3)  (A) is true, but (R) is false.

(4)  (A) is lalse, but (R) is true.
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AT giEE o SR A9 TH 90T ki 920 37%d goH shiv 91 Bl © 7
(1) 1: 150 (2) 1100 (3) 1:50 4) 1:5

b

Gl - 1 1 Gl - 1 & 919 gafad L SR = 5y T4 e § 98 39 1 997 Hi

eIl - 1 Il - 11
( RItRE/ TTre ) ( UeRTIITd a9 )
(a) 7IAECE Teed T Afvew Serer] ace 7 (i) 2007
(b)  T=fhE™ T (i) 1992
(c) IPCC w1 =Tl sArehed e (iiiy 1972
(d) T arer (iv) 2009
<hd ;
(@) (b) (o) (d)
(1) (@ @) () (i)
(2) (i @ () ({iv)
(3) (v} (@) @GD) (1)
(4)  (v) (o) (1) (i)

MG agreed Tl H 3 /e H 790 R B ¢ ?
(1) WHAHST (2) &9 (3) AHEEEgHEE  (4) aeHEd

YAEA TEl | oL YAl qoh < SR o % Hal Hag! #esh whH FreiafEd § 4 e | e ?
(1) gl Lo &, T=H] ZaTd, SArs] 3= S7e, sAIeh Ta
(2) AU I <, GIYEH] gelld, SATqTie: T, Yard g &l
(3) A9k Yo, e i gell, JEH! g9, S99 S o
(4) ST ToF, SO S=4 ST, UI=HT 29T, e g 29

[ > [

= g e fou U B, TR 1 AU (A) S gE & MOT (R) & ®9 H e mn g = fgu
FZ H W W SR G
ATTERL (A) 1000 T2 1 S F S IfEaRisr gaq, Jfasrdy stem sie-hid Jfaddr 99

T Tl © |
BDRULIR) ; AHEE 1 FYU A SHA § FI AT 1000 H2T Tk 2l &l 21
<he
(1) (A) iR (R) 3F 5@1 § 7R (R), (A) F 581 =087 3
(2)  (A) 3T (R) T WETE, T (R), (A) I FEl =A@A e |
(3)  (A) WG g, 95 (R) 79 © |
(4)  (A) TTE B, 9 (R) WEI T |
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Which one of the following isotherms for the average temperature of the Warmest month is
generally accepted as equator ward edge of the Tundra climate ?

(1) 2°C (2)  10°C () 5°C 4) 15°C

Given below are two sltatements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select vour answer from the code given below :

Assertion (A) ¢ The trade winds are predominantly easterly.

Reason (R) : An easterly wind blows from west to east.

Code :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  Both (A) and (R) are true, but (R) is not a correct explanation ol (A).
(3} (A) is true, but (R) 15 false.

(4)  (A) 1s false, but (R) is truc.

Which one of the following types of climate is appropriate for BWhin Koppen's World Climate
classification ?

(1)  Subtropical Desert Climate
(2)  Subtropical Steppe Climate
(3)  Midlatitude Desert Climate

(4)  Midlatitude Steppe Climate

Which one of the following values of temperature 1s correct for the average frcrexil'1g point for
seawater in Arclic and Anlarctic seas ?

(1) 2°C (2) 0°C 3) —2°C 4) —10°C
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Match List - I with the List - II and select the correct answer from the code given below :

List - I List - I1
(Plate name) (Direclion of movement)
(a) Indo-Australian plate (i)  Last
(b)  Cocos plate (i)  West
(c) TPacilic plate (iif)  North
(d)  Nazca plate (iv) North-West
Code
@) ) (@ (@

(
) () (v) (1) |

) (i) (v) () ()
) m) @ @
) ) () ()

Which one of the [ollowing periods when the sea level around the world, was as much as
130 meters lower than today 7

(1)  Holocene (2)  Pleistocene

(3)  Miocene (4) Cambrian

Given below are [wo statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select vour answer from the code given below :

Assertion (A) ¢ The moon produces greater percentage of Earth’s tides than the Sun.
Reason (R) : The Sun is closer to the barth than the Moon,
Code :
1} Both (A) and (R) are true and (R) is the correct explanation of (A).
) Both (A) and (R) are true, but (R) is not a correct explanation of (A).
3)  (A) is true, but (R) 1s false,
) (A) is [alse, but (R) is true.

Which one of the following terms is appropriate for plants that endure seasonal climatic
fluctuations [rom vear o year ?

(1)  DPerennials (2)  Annuals (3)  Seasonal (4)  Bi-annuals
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select vour answer {rom the code given below :

Assertion (A) : The regional boundaries of biomes are some-what arbitrary.
Reason (R) : All kinds of major biomes are existing both in ocean and land.
Code :

(1)  Both (A) and (

2)  Both (A) and (R) are true, butl (R) is not a correct explanation of (A).
3)  (A) is true, but (R) 15 false.
4

R) are true and (R) is the correct explanation of (A).

—_—

(
(

(A} 1s false, but (R) is true.

Malch List - I with the List - IT and select the correct answer from the code given below :

List - I List - II
(Zoogeographic regions) (Country)
(a)  Orientel (1)  Brazil
(h)  Nearctic (i) Sumalra
(c)  Neolropical (iii) Netherland
(d)  Palacarctic (iv) USA

Code :
(@) (b)) (o)
(i) (D) (v)
i) (v) G @
; i
(

_—
P

The term "cultural landscape” was developed by :

(1) C. Darwin (2) C.O. Sauer (3) A Humboldt  (4) C. Ritter

Who among the following emphasized on the behavioural environment in Geography 7

(1)  Johnston 2y  Kark (3)  Gregory (4)  Burton

Who among the following developed the concept of mental map ?
(1) Gould and White (2)  Boulding and Haggerstrand
(3)  Downs and Stea (4)  Saarinen
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(a) HTA (i) @St
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(d) Ufesehfes (iv) ATET,
<hd ;
(a) (b)) (o) (d)
(1) (i) (1) (iv) (i)
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(3) (1) (v) (i) (111)
(4) (v) () (1) (i)
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Who amone the followine veoeraphers focused on man-centered eeoeraphy ?
i) i 5

(1)  Huntington (2)  Semple (3)  Jefferson (4) Ratzel

Who was the first Greek Scholar to calculate the circumfeorence of the carth 7

(1)  Aristotle (2)  Herodotus (3} Anaximender  (4)  FEratosthenes
“Space is Socially or Culturally Constructed ” is the view under :

(1}  Behaviouralism (2)  Loeical Posilivism
X 1 L]

(3)  Structuralism (4)  Post Modernism

Malch List - I with the List - IT and select the correct answer [rom the code given below :

List - I List - II

(Geographer) (School of Geography)
(a)  Albert Damangeon (i) German school of geography
(b)  Friedrick Ratzel (i)  French school of geography
(c)  Halford ]. Mackinder (iii)  British school of geography
(d) Isaiah Bowman (iv)  American school of geography
Code

(@ () () ()

11

)
)
)

(
) ) () g
(ify (i) (iv) (iil
(i) (1) (i) (iv
(iv) (i) (u1) (i)
Who wrote the book "Meteorologica’ ?

(1)  Aristotle (2)  Posidonius (3)  Plato (4)  Erastosthenes

Which one of the following continents recorded highest density of population as per United
Nations Population Fund 2015 data 7

(1) Lurope (2)  Asia (3)  North America (4) Australia

Japan’s population pyramid would most likely resemble to that of :

(1) USA (2)  Brazil (3)  Denmark (4)  India
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-
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Consider the following statements :

Developing countries have registered increase in population despite significant decline in
fertility rates because of :

(a) Increase in Life Expectancy Rale

(b
(c)

(d)  Better T.iving conditions

) Increase in Infant Mortality Rate
c)  Falling Death rate

Tick one of the tollowing code which reflects the above statements ?
(1) (&), (b) and (d) are correct

(2} (&), (¢) and (d) are correct

( (@), (b), (¢) are correct

(4) (b}, () and (d) are correcl

Which one of the following statements represents Population Pyramid with Wide base ¢
(1) Declining Fertility Rates

2y High Fertility Rates

3)  Declining Death Rates

4)  High Death Rates

Which one of the following depicts correct statement of Population Threshold for any
service 7

(1)  Maximum distance that people can travel to use a service

(2)  Mimimum distance required for opening a scrvice

(3

(4)  Maximum population size required for a service

) Mimimum population size required for a service

Malch List - I with List - IT and select the correct answer from the code given below :

List -1 List - II
(Term) (Definition)
(a)  Site of human settlements (i)  Movementdue to opportunilies of employment

(b)  Situation of human settlements  (if) The phvsical and cultural characteristics and
attributes of a place

(¢)  Tull factor in Migration (iii) The relative location with particular reference
to the significance to a place

(d)  Migration field (iv)  Arca that dominates a locale in and oul
migration pattern

Code :

@ (b) (e} |

(i) vy Gy

(i) (@) @ (v

(iif) (i)  (iv)

(iv) G ()
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T el ot fo=m &

foerTereliel <9 A 94 U § HEequl FHl < eee Sae H gig TS Fl §, THH hRU T
(a)  Siter eI 3T H gig

by FrgT gt

() TF U H e

(d) TEA-TEd i oL et

HHTMTM cng[ ff o B[ T %2 Y HIA h S g ?

(1) (a), (b) R (d) @?T g
(2) { Jf (c) 8% (d)

(3) (@), () (o) §

(4) (?L(t) {(d )“:"Tf”

freferfiad ol ° @ s |1 91 =479 19 & SHeE TiHe &1 gefdlq sar 22
(1) W= g d fiere

(2) I W

(3) T & H free

(4) THEH TG

L) ™

ToRdl o1 | F fo0 9@ 9 (gHeles) i el =9 Aefargd § 9 e T 99 Fial 8 7
(1)  ATerpem 520 S &Ml =1 Hal &1 SUAN L o (0 T HE TSl © |
(2) HET I IR H ok AU =g gl

(3)  Hal % fau sevas® Haq SAEe
(4) Hel & foU SArevden SAfHehdd SHHE]

T - 1 %1 = - 11 % |12 gHfAd L $R- A= 90 T4 2 H 921 39 A=A H

el - 1 T - 11
(ug) ( afyrer )

(a) Te afedd = T (i)  TUSTIR el = ] i
(by A Sl & Tefd (i) T Y difqe SR Hiepfaw fasmand qe 7o
() ToEA H {9y HuhN (ift) T % HEed o o9 Hey | Jerredeh fafefd
(d) oET & (iv) WoEA W& o 3178 3R S8 WA AR O THE
ST STeT &7
TR
(@) (b)) () (d)
(1) (@) (v) (1) (i)
(2) (i) () (@) o (iv)
(3) (i) (i) (iv) ()
&) (v) () @ (i)
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Match List - I with the List - II and select the correct answer from the code given below :

List - I List - IT
(Term) (Definition)

(a) Cenlral Cily (i)  Continuous built-up landscape with high densily of
buildings with no reference to political boundary

(b)  Network City (if)y  Areas oulside cily with wrban characteristics

(¢} Urban Influence Zone (i) Urban arca contained within the official boundaries
of the main city around which suburb develops

(d)  Urbanized Arca (iv)  Two or more independent but complementary cities
having high speed transport corridors

Code

@ (k) (9 (d)

M0 () () ()

(2) () (v) @) ()

@ ) v ) @

@ (v ) @ ()

Locate the [ollowing places in Multiple Nuclei theory of urban structure in the f[igure and
match it with the list piven below :

r - kit
_'I'h-.F_-J'\ ]__[ \_‘r i
— : x\x

=y

(a)  Wholesale and Light Manufacturing
(b)  High class residential
(c)  Medium class residential

(d)  Industrial Suburb

(1) () (0 @
2) (@ (& ©
3) @ © & (@
4) © (D @ (b
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Tl - 1 o1 =i — 11 o |19 gaferd sl #1790 0 2 H HEl S =21 i

il - 1 =it - 11
() ( TfeTTT )
(a) HEH TRH (i)  USHIfa® IR & RN HeH R SR gHRAl ok 5w
Eea % WY Y ST 1 R A
(b) V2 I (ify T ok e TR TRt o | wEd 4
(c) I gurE & (i) HEA viey, Tk ama-ug 3uR faswfaa & © ¥, 9+
IR A GRS o 3T 3T &l SR &3
(d) HIHd & (iv) €191 SF1e] Tl 70 Gk 8t TS g1 1T <k e
he :

(@) (b} (o)
(1) ) G Gv) |
(2) (i) (v) @) G
(3) () (v) @)
) ) G @

MEATARET ST H AR H3EA] & Ig-hseh TG H (THATANEA $IMHI oh! 91 o 191, 31R 34 1= &)
T 941 o 919 gfaa wifsw .

R
L 1L %

[ J

i ﬁ i

u Y,

“x__,-'
v ]
'Ec\?ﬁ :

(a)  oeR T goeh! fafafor

(h) 3= A SITEH

() HEETE ST

(d) SR 3T

he :

Iy ) (1) (Iv)
(1) (b)) (o (&) (d)
(2) (@ () (g (d)
) (@ () (b (4
(4) (© @ @ (b
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Which one of the following does not have role in push factors that seem to be operative in

rural India ?

(1)  Rapid increasc in the population growth

(2)  High pressure of population on arable land

- L

-~ : ; - - 5 I 3 > i PE b : = e = B e - ey e P

(3)  Low por capita income and ¢laring disparity between levels of imcome of urban and
rural areas

(4)  Slow but consistentincrease in amenitics in rural arcas and increase m per capita income

Which one of the following defined regional growth pole as a “sct of expanding industrics
located in an urban area and including further development of economic activity throughout
its zone of influence”.

(1}  A.O. Hirchman (2) F. Perroux s

P

} Boudeville (4)  B.J.I. Berry

Match List - I with the List - II and select the correct answer from the code given below :

List - I List - IT

(Number of likely settlements of (K values)
different orders )

(a) 8§, 32, 128 i) K-
(b) 4, 13, 40 (i) Ky
() 3,20, 141 (i) Ky
(dy 2 27,351 (iv) K,
Code :

(a) (b) (e}
(v) () ()
(iv) (i) (i) (i
(i)
O

—_

(i) (i)
(iv) (i)

R
R R — R R —

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select vour answer from the code given below :

Assertion (A) : The Green Revolution contributed to aggravalion of poverty rather than its
solution.

Reason (R) : Wealthy and landed farmers realised that Green Revolution logether with
agricultural mechanisation provided great potential for sell cultivation. They
began to withdraw land from share cropping and rental market. As a
consequence, a large number of tenants and peasants lost their jobs.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  Both (A) and (R) are true, but (R) is not a correct explanation of (A).
(3)  (A) is true, but (R) 15 false.

(4)  (A) s talse, but (R} is truc.
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40.  THY YRT T gFh] S Alcl ekl § Htaied § 9 8 & &1 s T8 ¢ ?
(1) e ghg | el Jgidil

(2) FHEFA g ) FTHE F] 374 399
(4)  TrHror e ﬁﬂﬁ‘%ﬂmﬂ 11 g Fad gig 91 ufq =afeq sma o ggiadl

41, TrAREd o 9 forar Wiefes T od &l ‘3Rl o3 H stEtem [FEid 8 32 & =9y 3R
THh U9 & § 2 T2 3T Mt o SR 9’ <8 w9 ° gfirig fea g 7
(1) T mﬂw : (2) U HEE (3) @refad (4) ST &9

L

42. T - 11 | - 11 o @12 gaferd s iR A= 7o 0 2 H Hgl ST 1 =2 i

Tl - | CUE
( fafy= waf et wurfaqa ( K 919 )
S TE SRl ST )

(a) 8, 32, 128 i) K,
(b) 4,13, 40 (i) Ky
(¢} 3,20, 141 (i) K,
(d) 2, 27, 351 (iv) K,
Er;F :

(a) (b} (<) (d)
(1) (i) () (i) (i)
(2) (iv) (1) (i) (3
(3) () i) () (iv)
(4) (iv) (i) (1) (i)

= -

43. A= G FE UL ¥, U 1 AFeRYT (A) S T I wRIT (R) % w9 H fear man €1 A few g
Fe H W Wl I G
aferod (A) . 3@ wifa F1 ave W TEl F1 FHEME B % 99 98 SR o 9 7% |
/T (R) : Al Y AT STHM 9Tl Rl 4 U8 qewgd e fo 2 whifd SN iy
HYTHT=T0] o 35 T8 Gl i &1 Hefd &0d1 ¥SHE &1 © | 364 HRER Bl 3T
AT WX G SIeme] Bl 3! avd oA YFE L fGa1) 36k qivE ey
SATTRTY e § ST I 8] 9 ST Wl ol shH B 747 |

<hd ;

(1) (&) 3R (R) T HET T SR (R), (A) 1 T AR |

(2)  (A) #R (1{) Sl |21 2, T (R), (A) i T2l =ATEA1 921 ¢ |
(3) (A) TE T, “H“l( R) TTeid |

(4)  (A) T 2, T (R) Wl 2
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Which activity Contributes to water pollution more than any other throughout the world 7

(1)  Agriculture (2)  Hydro-electricity power generalion
(3)  Manufacturing industrics (4)  Urbanization

Which of the following Ocean routes is the most important and busiest route in the world ?
(1} The Cape Route (2)  North Pacific Route
(3)  South Atlantic Roule (4)  North Atlantic Route

Which one of the following was not assured by Weber in his least-cost theory 7

(1) Agglomeration cconomies lead to high transport and labour cost

(2)  Labour 1s infinitelv available

(3)  Location with high transport costs may be attractive because of a cheap labour supply

(4)  Transport costs were uniform by distance and weight in any direction

From the transport network graph given below, select one of the following code to depict
"Diameter Index” Correctly.

B
£ .
| D
| 9
| R
——-—
[ il
e
.y
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FreferfEd 5 9 ford s =l aste o 9L Torwd | frdl o170 shid ohl ot | hel AT STel 79U 2l

§7

(1) F (

[~

) STt Fell Ieare

FefaiEd § ¥ &M -1 9y |46 e 1 |aiiie qeeul iR Sedad |Jel 8 7

(1) =9 A7l (2) IO WY 90
(3) =Ter0l sTEeAtes 9 (4) SEsEARC Gl G

o {94 Aaq arTd fagia | e 5 | 6y =8 A a1 ?

(1) =g snfeder sreren o uftae 2R 99 @ a5l ¥ |

(2) | AHIHT &1 F ITes9 2l ¢ |

Wtl

(3)  HE 99 Kl 3Yfd & KO Tl GRS T Al T T SRR 3 Fehd € |

(4) Iiered wmra e of faen ° g8 SIR a9 =6 $17%Y Ush 99 3l ¢ |

1< fau T qitesd ek ot |, efatea 9 3 o9 YEsiE | ey i g9 ar/d &2 5 90
EXE

A2
e D
| B
Cel
II _ 4 I
| s
|
|- &::
"\\.‘\‘\L\‘
"\\.-\.\H‘C]
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select vour answer {rom the code given below :

Assertion (A) @ Between Durgapur-Asansol-Chittaranjan and numerous collieries and
connected activities the Asansol sub-division represents one of larger
industrial complexes in the world.

Reason (R) : The substantial coal reserves and output, iron and steel output and
engineering industry in the Asansol sub-division outside the Calcutta
Metropolilan district are found.

Code :

(1) Both (A) and (R) arc true and (R} 1s the correct explanation of (A).

(2)  Both {A) and (R) are true , but (R) 1s not the correct explanation of (A).
(3)  (A) is true, but (R) is false.

(4)  (A) is [alse, bul (R) is true.

)
)

Who among the following political scholars appealed in 1949 for “a more geographical political
geography” ?

(1) Hartshorne (2) G.E. Pearcy (3) R Fifield (4) Georgel. Renner

Who wrote the book known as the “World Political Geography” ?

(1)  G.E. Pearcy (2)  Stephen B. Jones (3) LK. Wright (4)  Hartshorne

Malch List - I with the List - IT and select the correct answer {rom the code given below :

List - I List - II

(Tribe) (Habitat)
(a)  Bhils (i)  Shillong plateau
(by  Gonds (i)  Eastern Jharkhand
(c)  Santhals (iify Chattisgarh
(d)  Garo (rv)  Aravalli
Code :

(@) (b) (c)
(1) () (i) () o
(2) () (D) () (iv)
@) (i) @ () |
(4) () (m) (v) |



www.prepp.in .repp

18.

49,

Your Personal Exams Guide

-

A= S [ ST, Weh oh] AR (A) ST TH i ST (R) & ®9 1 &1 71 g | A= U 7w
% H H HWal I G

ATURYT (A) : T - AHAHA-TARSAT o o9 A7 gl @RM BH IR 374 HalHd &
AT B =1 o9 O sTeae we-fefas fava & v =g siaifis afedd § 9

T T |
T (R) : Ferehdl TRATIE foell & 9T THHe Ha-fefaea o 94 SiFel YUesR R

3T 97, AreT $IR ST o] IeURA SR ST San 7

he

(1) (A) #R(R) SHT WET 8 S (R), (A) =i G2 = 2|

(2)  (A) 3R (R) T W61 §, T (R), (A) &1 T =1 72 ©
(3)  (A) 92 g, 9 (R) 7o T |

(4)  (A) TTed ¥, 954 (R) TR T |

frefertad o | form TsHifass fagia = a0 1949 § ' SA&irRd U AT SRTiersh Teiiiaen qoe
1 Siel ohi off ?

(1) BRI (2)  SiLE. THI (3) #ARTH TRieg (4) SISl 21T
‘goe gifdiZered SEUTH’ A9 TEeh sl T Feferiad o & fohed =i o1 ?
(1) <itg u= (2) TWIETEL S (3) S 52 (4) B

S

Gl - 1 1 Gt - [1 o W19 gafad L $iR 9 fou T % § wef 39T %1 =979 +

it - 1 T - 11

( St (ST R )
(a) e (i) Toren 9er
(b) e (i) Td IREvE
(¢) Hee (i) TG
(d) T (iv) ST
ehd :

(@) (b) (c) (d)
(1) (v) () (1) ()
(2) B () Gy (iv)
(3) (i) @) Gv) (i)
(4) () (uy (dv) (0
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The concept of ‘Cultural landscape * was popularised by :

(1)  Wilber Zelinsky (2) Carl Sauer (3)  Anne Buttimer (4) Ratzel

T'he paradoxical situation of co-existence of the patrilineal society and the dominating position
ol women characterize ¢

(1) Tharu Tribe (2)  Khast Tribe (

b

) Gond Tribe (4)  Bhil Tribe

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select vour answer {rom the code given below :

Assertion (A) : Joint family institution is linked with the cconomically less developed area.
Reason (R) : Educated and well placed white collar employees go for nuclear family,
Code :

(1) Both (A) and (R) arc truc and (R} is the correct explanation of {A).

(2)  Both (A) and (R) arc truc , but (R) is not a correct explanation of (A).

(3} (A) is true, but (R) is false.

(4)  (A) is false, but (R) is true,

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select vour answer from the code given below .

Assertion (A) : Metros arc emerging as efficient, viable and alternate means of transportation
in metropalitan cities in our country.

Reason (R) : Old and unplanned cities with rapidly growing population are burdened
with multi-mode of transportation in India.

Code :

(1) Both (A) and (R) arc truc and (R) is the correct explanation of {A).
(2)  Both (A) and (R) are truc , but (R} is not a correct explanation of (A)
(3)  (A) is true, but (R) 1s false,

(4)  (A) is false but (R) is true.
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FeferfEd | & fore * wisnider vayfd’ <hl SALRON skl e 0g S o1 ?

(1) fooar Sfa==pl  (2) T 9l (3)  TA g (4) 2S5

Ueeh 9T 39 Afgenst =t yurasnel feufa & gg-ifeaa =t et frufa fafafea o 9 fad
™y = xl"\ %r?

[t fs

(1) e s (2) WrE S (3)  TIiE S (4)  offer Sefa

-

A= &1 e U T €, Teh i ATUERAT (A) 3R gHL S ot (R) & &9 1 foan 7 71 A+ feu g
¥ H § "l I G0

AR (A) :  Hyad 9RER Heen aféfw =9 ¥ %9 fawtaq oF 9 721 )

THIT (R) : ot o7 o= Uel W e v shiel HA=N 39 o7 Ushel REr F9d 2 |

(1) (A) 3T (R) M1 W81 § IR (R), (A) Tl HgI AT T |

(2)  (A) 3R (R) EF W& €, T (R), (A) 1 T =08 4 ¢

(3)  (A) ¥ 8, 9 (R) T T |

(4) (A) T E, T (R) W F

L

E

3

o S A TSU H €, Ueh o USRI (A) 3R T8 &1 SRIUT (R) & &9 H fean T g | A= feu 7T
% o Hel I g

AT (A) : T TAN <9 & TR H JREEA o FH9e, Haer 3R dehfcdeh HIeH < &9 Y

THIUT (R) : I H A SR foa7 fdt I 3 99 9T SRl SaEe ast 3 98 W@ E, 97

Oieed = oIgd aiich arg o gL |

<hd

(1) (A) SR (R) S T E &7 (R), (A) T TE =IR T |

(2)  (A) IR (R) TF1 ¥l &, 734 (R), (A) T Tal =784 76l © |

(3)  (A) 921 8, 9 (R) 7o T |

(4)  (A) Ted T, 934 (R) HE T |
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56. Match List - I with the List - II and select the answer from the code given below :

List -1 List - II
(Approach) (Development index)
(a)  Development index (1) Average development rating based on opinions of a

presumably qualified sample group.

(b)  Consensus (i)  Composite development scores based on a
combination of numerous sub-scores for individual
indicators.

(c)  Subjective mtegration (i)  Per capita income, longivity of live and social well-
being.

(d)  Human developmenl (iv) A set of adhoc regions, the classes and boundaries

of which arc determined on the basis of field
experiences combined with subjective assessment,

Code :

(1) (i) () () ()

(2) (i) () (v) (i)
) 1) (v) () (1)
(4) () @ ) ()

57. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select vour answer from the code given below :

Assertion (A) : MNREGA constituted very ambitious rural development programme of
India.

Reason (R) : Building basic infrastructure got linked to provide minimum number of davs
guaranteed emplovment.

Cade

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  Both (A) and (R) are true , bul (R) is not a correct explanation of (A).
(3)  (A) 1s true, but (R) 1s falsc.

(4)  (A) is false, but (R) is true,
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T - [ o] §=r - 11 o 12 Gl il i)+ 790 70 2 = J40 T g0 Hel S & =9

Eag

il - 1 el - 11

( gfezenror) ( TerehTel G=lehieh )
(a) To=pre g=eri= iy  SIAIa 'Y o fiera T 99E 1 U O STHIiE sred
EEEIEAN
(b) HeHfd (i) AT AR o (AU s IU-3ieh] & HASH T
syTiea wgE fawm o1 (F1) |
(c) Tomoafrss womRa (iif) wia =afeRs sa, S 7 Greigu SR HHTSe FaH |
(d) A T (iv) e &7, =R A HHIA! sl = Sl wiee A9l 3%

faafass eheT = 3T WX i g € |

(@) (b)) (c) (d)
1y () @Gv) @) ()

AT T [ ST T &, Weh ohl TR (A) S TH 3l SWUT (R) o T9 H &1 741 ¥ 1 A4 T 7w
F< H H HEl IR G :

SRITT (R) : AR ST TRET 5o ool 4 gq A9 1A=l = (00 31 39 Fe]
G gl T4 |

ehe :

o

(1) (A) IR (R) 31 T81 T 3IR (R), (A) &1 T2 A=A T |

(2)  (A) 3R (R) THI "8I T, T (R), (A) =1 TE &7 781 ©

(3) (A) &l E 9% (R) 7o |

(4) (A) e B, TG (R) WET B
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select vour answer {rom the code given below :

Assertion (A) @ Urban agglomerations and metropolitan cities are growing rapidly in India.

Reason (R) : Satellite towns are not sufficiently and significantly developed to release
the pressure of urban population.

Code :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  Both (A) and (R) are true , but (R) 1s not a correct explanation of (A).
(3)  (A) is true, but (R) is false.

(4)  (A) is false, but (R) is true,

Which one of the following statements is very correct in context of the concept of Growth
pole and growth centres 7

(1)  Both the Growth pole and Growth centres are uniformly distanced in the region.

(2)  Lower ovder Growth contres are located quite far away as compared to higher order
Growth centres.

(3)  Higher order Growth centres are located far away while lower order Growth contres
are located closer to one and an other.

(4)  There does not exast any rule in the distance between Growth pole and Growth centres.

The percentage of decadal growth of population (2001-2011) is the highest in which of the
following, states ?

(1)  Woest Bengal (2)  Maharashtra
(3)  Uttar Pradesh (4)  Arunachal Pradesh

Which omoe of the fDH(im-’ing 15 responsible for concentration of slum population i India ?

(1)  Commercial plantalion activities are dominant.

Pt

(3)  Service activilies in organised sector are dominant.

2) ?t-‘TanuFaCthing activitics 1n organised scctor are dominant.
(4)

Manufacturing and Service activities in non-formal sector are dominant.

Which one of the following states is leading producer of Coffee in India ?

(1) Kerala (2) Karnataka (3)  Assam (4)  Tamil Nadu

prepp

Your Personal Exams Guide



www.prepp.in

5.

60,

61.

62.

prepp

Your Personal Exams Guide

-

= S [ ST §, Weh oh] AR (A) T TH I SHRUT (R) o &9 1 &1 741 ¢ 1 A4 T 7w
Fe H H HWal A T :

aferer (A) . wEd THEA IR HeATE URd # dst ¥ 5% @ ¥

eh a7

(R) : STl SHEEAT 1 T hH L &g IR JHTd: HR HEeaqul &Y ¥ foefad 421
fepm ma €

A) 3T (R) ST W2 € TR (R), (A) 1 W&l =187 ©

fny

A) 3R (R) EH1 €1 €, T (R), (A) i T2 =@ 9= 2

(
(
(A) T €, T (R) o 2|
(

A) TEd T, T (R) T T

FfAREgd § | A-1 9/ gd AR 968 = &1 AT9R0N & Had § 31746 T2 g ?

(1)
(2)
(3)

e

R @ IR Taehm™ & <M1 81 &5 H Ush ¥ gl W 2 |

$od A fae &5 1 g ° {707 %9 g g Hl g STafeem 3 © |

- -, f

3wa Y fashd s =T g2 STafyd T § Sieis 1 %9 faw ws uh-gul o e
srafierg 2 2 |

foehTd g 3R TaehTd vl o Sl ki U & Gad | &2 99 oEaH =12 ¢ |

SAHEAT 1 Sy ghg 1 wlavEar (2001-2011) Hefafea | | e s J gaiibs g 2

(1) 9i¥=™ = (2) HEN
(3) W ICH (4) STEUTEA T

efefad 5 =a-91 YR § Aaq 9% 9@ Hoahg vl & fe7u SeErt © 7

anforfsae dredmm nfafafaar vee 2|

qitsd &= § fafaai nfafafia g9 2 |

GTad &5 § 9 nfafafiE 9o 2 |

=R ey o fafrar si e wfafafie vee 2

fferigd O & & - 91 U8 9d 3 hiH! 1 9y Seq9es 19 © 7

(1)

Eric (2) HAIZHh (3)  #A9H (4)
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3
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Match List - I with the List - II and select the correct answer from the code given below :

List - [ List - 11
(Hydel Power Projects) (States)
(a) Sharavathi ()  Odisa
(b)  Balimela (i1)  Uttar Pradesh
(c) Obra (iii) Karnataka
(d)  Shanan (iv) Punjab

Code :
(@) (b)
O UL
(i) (i) (v
m (v)
m) @

- r‘J_}
pe— e S— P — P S—

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select vour answer from the code given below :

Assertion (A) : Northorn part of Ganga plain has very few irrigation canals.

Reason (R) : This arca receives high rainfall and has plenty of underground water.
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2)  Both (A) and (R) are true , bul (R) is not a correct explanation of (A).

(3)  (A) is true, but (R) is false.

)
(4)  (A) is false, but (R) is true,

Match List - I with the List - II and select the correct answer from the code given below :

list - | List - 11
(Crops) (lLargest producer state, 2016-17)
(a) Raw colton (1)  Uttar Pradesh
(b)  Mustard (i1) Rajasthan
(c) Maize (i)  Gujarat
(d)  Wheat (iv)  Andhra Pradesh
Code :
(@ (b) (¢} (d)
ay @) @) G0
@) v G 6 G
Gy @G G )
@ G) G v



www.prepp.in

L) L)

63. T - 1 %] §=l - 11 o |1 FHied s 3R A U 70 32 H Fel 3L =39 A

e -

( Stetferele uftErsd )
(a) Q] (i)
(b)  SferHen (i)
(c) T (iif)
(d) A (iv)
che :

(@) (b) () (d)
(1) (@) @) (v) (i)
(2) () () (v) ()
3) () (v @ (1)
(4)  (m) @ G (v

64. I T A U W E, Tah ol ATERYT (A) 3T THL ] SHIOT (R) o &9 § e T g1 = fgu 1

¥ H H HEl IR G0

= - 10
(=)

EEIEC]

- it

29 @ H A6 ANl Bl ¢ SR gHeh ITH 9T A H YiHTd Sl T

ATTERYT (A) 1 T TeH & 390 fe o it o6y o= 78 €|
THIT (R) :

ohd

(1) (A) TR (R) & 921 § 3R (R), (A) Tl 98 =212 |

(2)  (A) 3R (R) EF W& €, T (R), (A) T T =08 42 €
(3)  (A) T T, T (R) T B |

(4) (A) TG E, T (R) I F

65. T - 1 %1 §el - 11 o |19 Yaferd =L IR +1= 76U 70 2 § H1 3 1 =99 H

g

(wHA )
(a) Hedl HIM (i)
(by =z (i)
(c) (i)
(d) T (1v)
che :

(@) (b) (o) (d)
(1) (i) (v) () (i)
(2)  (v) () (1) (i)
(3) (i) () vy ()
(4) (1) @) @ (v)

=t - 11
( TEifiren e W, 2016-17 )
ST
RIS R

-2

AT T
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Match List - I with the List - II and select the correct answer from the code given below :

List - I List - II
(Mountains/Ranges) (Peaks)
(a)  Nilgiri (1)  Sagarmatha
(b)  Satpura (i) Mt Abu
(¢)  Aravalli (iii) Dhupgarh
(d) Himalava (iv) Dodabetta

(@) (b)) (g
(1) ) Gv) @
(2) ) (W) ) (iv)
(3)  (v) () G
) (i) (v) () (

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select vour answer from the code given below :

Assertion (A) @ With every successive census in India, the growth of populalion resulls in
greater increase in slum population.

Reason (R) : Both the arca and the population of India have been increasing continuously.
Code :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).

2
(3) (A} 1s true, but (R) 1s falsc.
(4)  (A) is false, but (R) is true,

Both (A) and (R) are true , bul (R) is not a correct explanation of (A).

Which one of the following phenomenal relationships is depicted by an ergograph ?
(1) Temperature and absolute humidity

(2)  Rainfall and runofl

(3)  Crop production and rainfall

(4)  Crop season and weather conditions

Which one of the following allitudes belongs to sun synchronous polar orbit ?
(1) 30,000 to 36,000 km

) 2,000 to 6,000 km
(3) 300 to 1000 km

) 5,000 to 15,000 km
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Tl - 1 o1 T - 113 971 Gt s 3 A= f9U 7 e § S8l 3T 1 =91

et - 1 Tt - 10

S EVUELE D! ( =ifear)
(a) AR (i)  HERET
(b)  |d=l (1) HISTZ 31T
(¢) eTuEe (i) ¥9TE
(d) Temre™ (iv) SIS
<hd ;

(a) (b} (e

(
(L) () vy @ 3
(2) @ (W gy (iv)
3) (V) @) @) ()
@) () @) @) ()

A= 2 e fou T ¥, U 1 SIMAIEReE (A) SR TEY il SRIOT (R) % B9 H fem man ¥ 1 = fey
¥ H H HEl IR G :

ATTRAT (A) : YA H Yods S5 Heh SH9HE] o 9|19, el afeddl =1 Saaen 1 9ii gfg <@t

=T
HIT (R) I o &7 SR S9E 2H § Fad w9 9 g el © g
<hd ;
(1) (A) 3R (R) SF1 W& € 311 (R), (A) =l Wl =1 2 |
(2) (A) ¥ (R) <FT "8l 8, 9 (R), (A) 1 T =A1EA1 781 3 |
(3) (A) T T, T (R) T 2|
(4) (A) 7o &, TG (R) WG

‘i g fefatea ° 9 e ydeme g9y = e gmn g 2

(1) amHM 3R e e (2) I dR TR
(3)  WEA I iR g (4)  wEeh drEw IR A fryfaar

i
1

AR 5 | SA-H1 S9E Y3 qoaslad Yard ®el 9 aiHd g 2

(1) 30,000 ® 36,000 .. (2) 2,000 ¥ 6,000 T4,
(3) 300 ¥ 1000 T, (4) 5,000 ¥ 15,000 k.4,
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Which one of the following terms is correct for calculation of Skewness Coefficient (3) 7

S(X; = X) [/3(X =X)?

B =S /5060
2) Py= llf?’i;n— X)2 xs S p\fn_ 2
B) Bi= _ E{an A) 1{ Z{K;II X2 T

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select vour answer {rom the code given below :

Assertion (A) : Standard Deviation of a series is the measure of its variation.

Reason (R) : Standard Deviation is needed to compare the variation between two or
INOTE Series.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  Both (A) and (R) are true , but (R) 1s not a correct explanation of (A).
(3} (A) 1s true, but (R) 1s falsc.

(4)  (A) is false, but (R) is true,
Consider the following statements :

(a)  Tele-communication satellites are mostly Geostationary satellites usually placed at an
altitudes of more than 30,000 km.

(b)  Resource satellites are sun svnchronous usually placed at an altitude of 300 - 1000 km.
Which of the above statements are true ?

(1)  (a) omly (2} both (a) and (b)

(3) (b} only (4)  mneither (a) nor (b)

Which one of the following sensors is an aclive remote sensing sensor ?
(1)  Photo Camera (2)  Multiframe Camera
(3)  Multiband Scanner (4) Radar



www.prepp.in .repp

Your Personal Exams Guide

70. TAfREd 5 § & -9 98 foremal o (8,) o TReher 3 T2l € ?

S(X;—X) /3 —X)?

n /! n

(1) Py=

S(X; - X)* /3K =X)?

n

(2) By=

=

71. e 51 %A f5U U ¥, U 1 SR (A) X T FI AT (R) % B9 femmmn g1 = few
2 H W T2l T M

ATURIT (A) : TRl "IN Tl A A=eH S9! [ai=al =1 |9 261 2|

THITUT (R) : <1 A1 S W AR H’IS <k s i fafi=Tdist] sl gor 68 & fog Jreh fa=e
1 &L Bl © |

che :

(1) (A) 3R (R) S ¥ET1 € IR (R), (A) T Wl 2T 2 |

(2) (A) 3R (R) T & E, i (R), (A) = Wel SR T8 2 |

(3) (A) TR E, I (R) T 2

(4) (A) TEd T, 9 (R) W T

72, TrefaREd el ot faem & .
(a) HOX 3WE iy 9-fer 3o 8 § 9= wm=: 30,000 fFd. 9 sifves = w wnfim
fepar < 2 |
(b) HA SR I etk 2 § o8 9d: 300 - 1000 T 7. ot S9E R wenfia foman s 2
Eepesaiefean B feoor il

(1) A (a) 2)  (a) ¥R (b) T
(3)  Had (b) (4)  (a) 31X (b) © ¥ FE &I

73, TrAfaiEd § 9 :H-9 9oc® U T gal ool Hees ¢ 7
(1)  Rial O (2) TEREd HEY
(3) TEEEE T (4) TSK
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Consider the following figures X and Y :

B D
A’Cm A’Cl‘r‘l
A C
RF 1:2,000 RE1:170,00,000
X Y

Which one of the following statements is correct ?
(1)  Figure X is small-scale map and distance between A and B s 40 metres.
(2)  Figure Y is large scale map and distance between C and D is 4 km.

(3)  Figure X is large scale map and figure Y is small-scale and distance between A and B
and C and D are 40 melres and 20 km, respectively.

(4)  Figure X 1s large scale and figure Y is small-scale. The ground distance between A and
B, and C and D are equal.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select vour answer from the code given below .

Assertion (A) : Dot map is especially usetul when the values are distributed unevenly and
sporadically.

Reason (R) : Smaller the statistical unit, more accurate is the Dot map.
Code :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  Both (A) and (R) are true, but (R) is not a correct explanation ol (A).
(3)  (A) is true, but (R} is false,

(4)  (A) is [alse, but (R) is true.

-o0)o-
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FferiEd fafaal X 3R Y W fa=m &

B D
A Cim A Cim
A C
RE 1 : 2,000 RE 1 :10,00,000
X ¥

frafafea 8 @ =0 -9 Y99 Wal § 2

(1) 3THRTd X 5 AF=A § 2 A SR B o o= @l g0 40 L T

(2) 3RTd Y g8d "A=3 € a1 C 3R D ok &= =l gl 4 TR.Hl. 21

(3) HFTd X ged gHEd § T 2 Tl Y o AEtas TAYT A ST B agr C 3T D =5 =i w1 gl
I 40 H2T AR 20 TRl B

(4)  SATpld X e AR AHTd Y o AT €1 A 3R B 991 C 3D o wiE A SAH gl HHH ¢ |

L

1< 31 U 50 T §, Wek o1 ATUHRET (A) 3 ST 3 hIUT (R) o €U H g1 71§ | A= fqu 7w
hd T H Hel 39 QHD\ :

e

AfaeneT (A) :  forg amfas faumert 9a AT g1 & ste godi w1 faatey 379 $iR stfafaa 2

ST (R) qiferen zenre foadl wfus e gl &, fog amfas 31 6 sifus w2 T 2 |
e
[~

(1) (A) R (R) 391 W@1 § 9i% (R), (A) i W&l 2T |

(2)  (A) 3R (R) SFI |E1 €, T (R), (A) Tl HaI A=A T2l € |

(3) (A) T2 8, 9 (R) T T |

(4) (A) TTEE B, 9 (R) HEI T |

-0 o-
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